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Question 1: 
 

The diagram shows the parabola with an 

equation in the form 𝑦 = 𝑘𝑥2. 
 

 
What is the value of 𝑘? 

 

REL 1∙2 Gold Outcome 1 

 

Question 2:  
 

Change the subject of the formula to 𝑤. 
 

 
 

REL 1∙1e Silver Outcome 2 

 

Question 3: 
 

Evaluate; 
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APP 1∙3b Gold Outcome 1 

 

Question 4: 
 

The area of this sector is 5∙89 cm². 
 

 
 

What is the length of the radius? 
 

E+F 1∙4b Gold Outcome 2 

 

Question 5: 
 

Calculate the equation of the line of best 

fit for the following scatter graph. 
 

 
 

Give the equation in it’s simplest form. 
 

APP 1∙4 Silver Outcome 3 

 

 

My score: 
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Exam Questions  
Question 1: 
 

 

E+F 1∙2a Gold Outcome 2 

 

 

 

 

Question 2: 
 

 

You’re on your own! 

 

Question 3: 
 

 

REL 1∙1d Gold Outcome 1 

 

Question 4: 

 

 

E+F 1∙2a Bronze Outcome 1 

 

Question 5: 
 

 
 

REL 1∙5b Bronze Outcome 1 

 

 

My score: 
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